
 
 

 SDS6000A Series 

Digital Oscilloscope 

RackMount Accessory 

EN01A 





 

S DS 6 00 0A  R ackM o un t  Ac ces so ry                                         1 

1 Part list 

No. Name QTY Part Number 

1 Front Plate 1 2.74.50.10.077 

2 Base Plate 1 2.74.50.40.136 

3 Left Plate 1 2.74.50.50.093 

4 Right Plate 1 2.74.50.50.094 

5 Positioning Brackets 2 2.74.50.50.095 

6 Handles 2 2.74.14.10.001 

7 M3x12 Pan-head Phillips Screws 2   

8 M4x10 Pan-head Phillips Screws 16   

9 M5x10 Pan-head Phillips Screws 4   

 

2 Tool 

You will need a Phillips screwdriver and T10 Torx driver to attach the 

rackmount to the oscilloscope. 

  



 

2                                   SDS6000A  RackMount Accessory 

3 Dimensions 

 

4 Installation Instructions 

1. Use the T10 Torx driver to remove the feet from the oscilloscope. 

 



 

S DS 6 00 0A  R ackM o un t  Ac ces so ry                                         3 

2. Attach the left and right plates to the base plate using six M4x10 Philips 

screws. 

 

 

3. Attach the handles to the front plate using four M5x10 Phillips screws, then 

attach the front plate to the side plates using eight M4x10 Philips screws. 

 

  



 

4                                   SDS6000A  RackMount Accessory 

4. Place the oscilloscope on the base plate flush with the front plate. The 

screen should be fully visible and the front bezel should extend slightly past 

the face plate when seated properly. 

 

 

5. Use the T10 Torx driver to remove the outside top two screws from the 

back of the oscilloscope body.  

 



 

S DS 6 00 0A  R ackM o un t  Ac ces so ry                                         5 

6. Use two M4x10 Phillips screws to attach the positioning brackets to the 

side plates behind the body of the oscilloscope, and use two M3x12 Phillips 

screws to secure the positioning brackets to the body of the oscilloscope. 

 

7. Post-installation notice: the rack mount occupies a height of 7U, The holes 

pointed out by the arrows are installation holes. They should be aligned 

during installation. 

 

  



 

6                                   SDS6000A  RackMount Accessory 

 

 

 

 

 

 

 


	1 Part list
	2 Tool
	3 Dimensions
	4 Installation Instructions

